General Info					
Number: Description:	PROJECT NO. 58-20-01				
	NEW MAINLINE TOLL PLAZA FACILITY UTILITY BUILDINGS, TOLL BOOTHS & CANOPIES MILEPOST 49 LUCAS COUNTY, OHIO				
Deadline:	MAY 27, 2020 AT 2:30 P.M. (EATERN)				
(Estimated Cost: \$9,250,000.00)					
Bids					
Business		Bid Total			
Kokosing Construction Company, Inc.		\$10,420,919.50			
Mosser Construction \$10,426,004.75					

KOKOSING CONSTRUCTION COMPANY

58-20-01 - GENERAL (Ref. Nos. 1 - 8)

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$50,000.00	\$50,000.00
		BOND AND PAYMENT BOND				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$40,000.00	\$40,000.00
3	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$48,100.00	\$48,100.00
4	624	MOBILIZATION	1	LUMP	\$400,000.00	\$400,000.00
5	SP 680	SITE WORK / GENERAL TRADES / ROADWAY	1	LUMP	\$6,219,900.00	\$6,219,900.00
6	SP 680	HVAC / MECHANICAL	1	LUMP	\$243,000.00	\$243,000.00
7	SP 680	PLUMBING	1	LUMP	\$100,000.00	\$100,000.00
8	SP 680	ELECTRICAL / TELECOMMUNICATIONS	1	LUMP	\$1,050,000.00	\$1,050,000.00

Total:

\$8,151,000.00

58-20-01 - PEDESTRIAN BRIDGE (Ref. Nos. 9 - 26)

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
9	503	COFFERDAMS AND EXCAVATION BRACING	1	LUMP	\$5,500.00	\$5,500.00
10	503	UNCLASSIFIED EXCAVATION	1	LUMP	\$9,200.00	\$9,200.00
11	505	PILE DRIVING EQUIPMENT MOBILIZATION	1	LUMP	\$24,500.00	\$24,500.00
12	507	STEEL PILES HP14X73, DRIVEN	1,000	FT	\$16.00	\$16,000.00
13	507	STEEL PILES HP14X73, FURNISHED	1,120	FT	\$49.00	\$54,880.00
14	507	STEEL PILE POINTS	4	EACH	\$165.00	\$660.00
15	509	EPOXY COATED REINFORCING STEEL, GRADE	16,711	LB	\$1.50	\$25,066.50
		60				
16	510	DOWEL HOLES WITH NON-SHRINK,	32	EACH	\$26.50	\$848.00
		NONMETALLIC GROUT				
17	511	CLASS QC2 CONCRETE, BRIDGE DECK, AS PER	43	CY	\$1,500.00	\$64,500.00
		PLAN				
18	SP 511	CLASS QC1 CONCRETE, PIER ABOVE	35	CY	\$925.00	\$32,375.00
		FOOTINGS				
19	SP 511	CLASS QC1 CONCRETE, PIER FOOTINGS	40	CY	\$615.00	\$24,600.00

20	SP 514A	SHOP PAINTING AND FIELD TOUCH-UP OF STRUCTURAL STEEL	1	LUMP	\$50,000.00	\$50,000.00
21	516	STRUCTURAL JOINT MISC.: PLATE, AS PER PLAN	2	EACH	\$4,000.00	\$8,000.00
22	516	ELASTOMERIC BEARING WITH INTERNAL LAMINATES AND LOAD PLATE (NEOPRENE), AS PER PLAN	12	EACH	\$600.00	\$7,200.00
23	523	DYNAMIC LOAD TESTING, AS PER PLAN	4	EACH	\$4,200.00	\$16,800.00
24	523	RESTRIKE, AS PER PLAN	4	EACH	\$4,300.00	\$17,200.00
25	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	74	SY	\$35.00	\$2,590.00
26	SPECIAL	STRUCTURE, MISC.: PREFABRICATED BRIDGE, AS PER PLAN	1	LUMP	\$1,910,000.00	\$1,910,000.00
					Total:	\$2,269,919.50

MOSSER CONSTRUCTION COMPANY

58-20-01 - GENERAL (Ref. Nos. 1 - 8)

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$70,000.00	\$70,000.00
		BOND AND PAYMENT BOND				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$110,000.00	\$110,000.00
3	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$60,000.00	\$60,000.00
4	624	MOBILIZATION	1	LUMP	\$100,000.00	\$100,000.00
5	SP 680	SITE WORK / GENERAL TRADES / ROADWAY	1	LUMP	\$6,500,000.00	\$6,500,000.00
6	SP 680	HVAC / MECHANICAL	1	LUMP	\$200,000.00	\$200,000.00
7	SP 680	PLUMBING	1	LUMP	\$100,000.00	\$100,000.00
8	SP 680	ELECTRICAL / TELECOMMUNICATIONS	1	LUMP	\$1,100,000.00	\$1,100,000.00

Total:

\$8,240,000.00

58-20-01 - PEDESTRIAN BRIDGE (Ref. Nos. 9 - 26)

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
9	503	COFFERDAMS AND EXCAVATION BRACING	1	LUMP	\$22,000.00	\$22,000.00
10	503	UNCLASSIFIED EXCAVATION	1	LUMP	\$8,000.00	\$8,000.00
11	505	PILE DRIVING EQUIPMENT MOBILIZATION	1	LUMP	\$20,000.00	\$20,000.00
12	507	STEEL PILES HP14X73, DRIVEN	1,000	FT	\$20.00	\$20,000.00
13	507	STEEL PILES HP14X73, FURNISHED	1,120	FT	\$48.00	\$53,760.00
14	507	STEEL PILE POINTS	4	EACH	\$200.00	\$800.00
15	509	EPOXY COATED REINFORCING STEEL, GRADE	16,711	LB	\$1.25	\$20,888.75
		60				
16	510	DOWEL HOLES WITH NON-SHRINK,	32	EACH	\$40.00	\$1,280.00
		NONMETALLIC GROUT				
17	511	CLASS QC2 CONCRETE, BRIDGE DECK, AS PER	43	CY	\$350.00	\$15,050.00
		PLAN				
18	SP 511	CLASS QC1 CONCRETE, PIER ABOVE	35	CY	\$950.00	\$33,250.00
		FOOTINGS				
19	SP 511	CLASS QC1 CONCRETE, PIER FOOTINGS	40	CY	\$550.00	\$22,000.00
14 15 16 17 18	507 509 510 511 SP 511	STEEL PILE POINTS EPOXY COATED REINFORCING STEEL, GRADE 60 DOWEL HOLES WITH NON-SHRINK, NONMETALLIC GROUT CLASS QC2 CONCRETE, BRIDGE DECK, AS PER PLAN CLASS QC1 CONCRETE, PIER ABOVE FOOTINGS	4 16,711 32 43 35	EACH LB EACH CY CY	\$200.00 \$1.25 \$40.00 \$350.00 \$950.00	\$800 \$20,888 \$1,280 \$15,050 \$33,250

20	SP 514A	SHOP PAINTING AND FIELD TOUCH-UP OF STRUCTURAL STEEL	1	LUMP	\$7,000.00	\$7,000.00
21	516	STRUCTURAL JOINT MISC.: PLATE, AS PER PLAN	2	EACH	\$7,500.00	\$15,000.00
22	516	ELASTOMERIC BEARING WITH INTERNAL LAMINATES AND LOAD PLATE (NEOPRENE), AS PER PLAN	12	EACH	\$1,600.00	\$19,200.00
23	523	DYNAMIC LOAD TESTING, AS PER PLAN	4	EACH	\$5,000.00	\$20,000.00
24	523	RESTRIKE, AS PER PLAN	4	EACH	\$1,500.00	\$6,000.00
25	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	74	SY	\$24.00	\$1,776.00
26	SPECIAL	STRUCTURE, MISC.: PREFABRICATED BRIDGE, AS PER PLAN	1	LUMP	\$1,900,000.00	\$1,900,000.00
					Total:	\$2,186,004.75

TOTAL BASE BID (REF NO. 1 THRU REF. NO. 26) ------ \$10,426,004.75